Name: __________________________



                                            Date: _______________
Indoor Mapping Exercise
This exercise shows how information from two separate locations can be plotted on a map and so enables the 3D visualization of a structure. You will need a ruler, scissors and a protractor.

You have 2 sub-parallel seismic profiles that show the same fold approx 5km apart. Use the instructions below to work out the orientation of this fold.

1) Horizon A has been interpreted on each seismic profile with a white dotted line. Trace over it in colour to make it easier to see.

2) Find the hinge:

a) On each profile draw on the interlimb angle and measure and note it in the table below.

b)  Draw a line that bisects the interlimb angle. The intersection of this line and the horizon is the hinge. Mark it on the seismic profile and note the TWT and CMP location in the chart below.

3) Looking only at the interpreted layer, use a ruler to draw on the fold axial plane, through the interlimb angle and the hinge.

4)  Note the CMP location where the fold axial plane intersects at 0msec TWT and note it in the chart below:

	Line
	Interlimb angle (°)
	TWT of hinge
	CMP of hinge (msec)
	CMP of fold axial plane at 0msec TWT 

	SSR-1
	
	
	
	

	SSR-2
	
	
	
	


5) Plot the position of the fold axial plane at 0msec TWT on the basemap. 
6) Use a ruler to join the two points. This line is the fold axial trace (position on a map where the fold axial plane intersects the surface). Label it.
7) Next mark the position of the two hinge points on the map. Label them.
8) Take the TWT panel and line it up on the map so that the 0msec line intersects with the two hinge points. Mark on the top of the TWT time panel the position of each of the hinge points and label them.  

9) Plot on the TWT panel each hinge point at its correct TWT.

10)  Use a ruler to join the two points together. This is the plunge of the fold. Measure it from the horizontal.  

Plunge = _______

11)  Cut out the 3D model spacer and cut along the dotted lines to fit the model together. Place it in the correct position on the basemap and answer these questions:

What is the direction of the fold axis?

Use at least 4 terms to describe the fold.

Draw a line across the 3D model spacer from one interpreted layer to the other. Explain using the terms dip and strike what you see.
